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Translation in English
Sub: Social Problems in India (Part 2) (SC-201)

Instructions:

1) All Questions are Compulsory.

2) Figures to the right indicate full marks.

3) Inthe case of any doubt the Marathi version dimaleld to be authentic and final.

4) While writing answers the respective question numbaust be mentioned in the
Answer Book.

Fill in the blanks with the correct option. (20)
1) - criminals are people who knowingly inteottally take up crime as a career.
a) Professional b) White collar
c) Political d) Property
2) Physical assault, murder, robbery, rape is theeagainst -----------
a) Property b) Nation
c¢) Person d) Social order
3) - means the offender is released on cextaimditions, promise of good
behavior
a) Probation b) Open Jails
c) Parole d) None of these
4) The volume of --------- labour increased tremendypadter the industrial
revolution.
a) Child b) Women
c)Botha &b d) None of these
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Q.2.

Q.3.

Q.4.

5) - Arthashastra mentions Forty types of em#bement,.

a) Varahameheres b) Chankya’s
¢) Kautilya’'s d) Arya bhatta’s
6) --------- introduced the evil custom of Nazarandha Mughal Darbar.
a) Noorjahan b) Akbar
¢) Jehangir d) Aurangjeb
7) The most important reason for alcoholism is lack-ef--- control.
a) Self b) Physical
c¢) Social d) None of these
8) In certain Scoieties alcohols has ---------- santti
a) Religious b) Social
c) Political d) familial
9) Childerns' village was started in ---------- by terman Mayner.
a) Austria b) Australia
¢) Germany d) USA
10) The UNO conference at ---------- was celebreatethadnternational Decade of
Women'
a) Nairobi b) Jeeneva
c) Brussels d) USA
Answer the following questions in detail. (AnyT'hree) (30)

1) What is crime? Give reasons for crime.
2) Write causes of child Labour.

3) Define drug addiction. Elucidate the causes ofjdddiction and suggest
preventive measures.
4) Discuss the measures and mechanisms against ¢omupt

5) Discuss the laws and steps taken to eradicate lelfitair.

Answer the following questions in brief. (AnyTwo) (10)
1) State the causes of corruption.

2) Prepare a note on Prohibition of alcoholism.

3) Prepare a note on the conflict between upper casePalits.

4) Prepare a note on problems of OBC’s and Mandal Cesiom.

Write short notes. (Any Two) (20)
1) Present nature of caste system.

2) Nature of corruption.

3) New Ideology among Dalits.

4) Alcoholism : as a process.
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